OSDAY Public School, Kaithal
December Examination,2024
Class : XI

Subject : Economics.

Time:-3 hrs

General instruction:- Set:-A
1.)All Questions are compulsory. MM:-80
2.)Q. No 1-10 & Q. No 18-27 carry 1 mark, Q. No 11-12 & Q. No 28-29 carry 3 marks, Q. No 13-15 &
30-32 carry 4 marks, Q. No 16-17 & 33-34 carry 6 marks.

Q.No. SectionA-Statistics for Economics
1 Match the following 1
Column 1 Column 2
A. Class Interval (1) Upper limit-Lower limit
2
B. Frequency (IT) A variable that can take only exact value
C. Class Mark (IIT) Upper limit- Lower limit
D. Discrete Variable (IV) Number of observation in particular class
(A) A (iii)) B (iv) C (i) D (). C) A (iv) B (iii) C (i) D (i)
(B) A (i) B (iv) C (iii) D(i). D) A (iii) B (iv) C (ii) D (i)
2 The average pocket money (Mean) of 5 children is Rs. 300 pm. If the monthly pocket money of the | 1

eldest 4 children is Rs. 200, Rs. 400, Rs. 500, Rs. 250 respectively, the pocket money of the
youngest child is:

a) Rs. 350. b) Rs. 150. c¢) Rs. 100. d) Rs.200
3 When r =1,all the points in a scatter diagram would lie:- 1
a) On a straight line directed from lower left to upper right. ¢) On a straight line
b) On a straight line directed from upper left to lower left. d) Bothaandb
4 Choose the correct sequence of the given functions of statistics related to the formulation of 1
economic plans:
(1) Use of a measure of analysis. (i1) Organisation & presentation of data
(111) Collection of data. (iv) Interpretation of data & forecasting.
A. 11,111,1v,1. B. iit,1,11,1v. C. 1i1,i1,1,1v. D. 1,1ii,11,1v
5 Read the following statements carefully and choose the correct alternative from the following | 1

Statement 1:-correlation analysis does not tell anything about causes and effect relationship
between the variable

Statement 2;-In non-linear correlation,the amount of change in one variable does not bear a
constant ratio to the amount of change in other related variable.

A) Both the statements are true. C)Both the statements are False.
B) Statement 1 is true,Statement 2 is false. D) Statement 2 is true, Statement 1 is false.
6 Given that the mean in a moderately asymmetrical distribution is 92, while its mode is 83, the 1
value of median will be
a) 90. b) 87.5. c) 89. d) 89.5
7 The law of Scarcity: 1

a) Applies only to the less developed countries. b) Does not-apply to rich, developed countries.
c¢) Implies that consumers want will be satisfied in a socialistic system.
d) Implies that consumer’s wants will never be completely satisfied.

8 The Correlation between sale of woolen garments and day temperature is:- 1
A)Zero. B)Negative. C)Positive. D)None of above
9 Mean of 20 items was found to be 12 on verification. It was found that an item 15 was Misscopied | 1

as 10. The correct mean is
A)12.10. B)12.20. C)12.25. D)12.60
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10 Normal Curves are also known as 1
A)U-Shaped Curves. B)L-Shaped Curves. C)J-Shaped Curves. D)Bell Shape Curves
11 Draw a frequency polygon using mid values from the following table 3
Marks 0-10 10-20 20-30 30-40 40-50 50-60
No.of Students |5 12 15 22 14 4
12 There is a debate competition in your school. Being School Captain, you have been entrusted with | 3
the responsibility of selecting the best orator from Class XI for the same. Identify the sampling
technique that you would use for this purpose. Critically analyse any three merits
13 D.A.V.P.S organised an educational trip to Wagah border for students of class 12th for 160 | 3+1
persons. Out of which 120 were students, 28 were teachers,12(all males)were peons. Out of total
persons,32 were females including 2 lady teachers.
Present the above information in a table with the help of working note clearly.
14 Find the median of the following series using graphical method:- 4
Age in | More More | More More More More More More More
years than 80 | than 70 | than 60 | than 50 [ than 40 | than 30 | than 20 | than 10 | than O
Noof |0 8 28 73 123 165 200 218 230
persons
15 Find out the mode of the series with grouping method. 4
Size 0-5 5-10 | 10-15 [ 15-20 | 20-25 | 25-30
Frequenc | 20 24 32 28 20 26
y
16 (A) “If all the items in a series are multiplied or divided by the constant then the mean of these | 3+3
observations also get multiplied or divided by it”. Prove this statement with suitable example.
B) Average marks of 26 students of section a of class XI is 73 and average marks of 24 students of
section B of class XI is 86. Find out the average marks of class XI.
17 Calculate Karl Person’s coefficient of correlation for the following data: 6
Husband Age |30 32 34 35 37 38 40 42 44
Wife Age 22 25 27 28 29 30 31 32 33
OR
Find out the Coefficient of rank correlation between X and Y
X 46 56 39 45 54 58 36 40
Y 30 60 40 50 70 70 30 50
SectionB:-Microeconomics
18 Which Law states that: "When a consumer consumes more and more units of a product, the 1
utility derived from each additional unit decreases"?
(A) Law of Equi-Marginal Utility. (B) Law of Cardinal Utility.
(C) Law of Ordinal Utility. (D) Law of Diminishing Marginal Utility
19 When MUx>MUyy. 1
Px Py

A) Consumption of Y rises while that of X falls. C)Consumption of X rises while that of Yfalls.
B) Consumption of both X and Y rises. D) Consumption of both X and Y falls.

2/X1-Economics/SET A




20

Budget set includes:

(A) All those combinations of two goods which a consumer already possesses
(B) All those combinations of two goods which a consumer cannot afford

(C) All those combinations of two goods which a consumer is willing to buy
(D) All those combinations of two goods which a consumer can afford.

21

When income of the consumer falls, the impact on the demand curve of an inferior good is:
a) Shift to the right side.  b) Shift to the left side. c¢) There is upward moment along the curve.
d) There is download movement along the curve.

22

After reaching the point of satiety, consumption of additional units of the commodity cause
A) TU falls and MU increases. C) Both TU and MU increases
B) TU falls and MU falls and become negative. D) None of above

23

Read the following statements carefully and choose the correct alternative from the following:-
Statement1:- The 2nd phase of law of variable proportions ends when MP is 0 and TP is maximum.
Statement 2:- A rational producer always seeks to operate in Phase I1I of law of variable proportions.
(A) Both statements are true. Koi(B) Both the statements are false.

(C) Statement 1 is true but statement 2 is false.

(D) Statement 1 is false but statement 2 is true.

24

Read the following statements carefully and choose the correct alternative from the following
Statement 1:MR can be zero when TR remains same with rise in output.

Statement 2:-When MR is zero, TR is at its minimum point.

A)Both the statements are true. B)Both the statements are False.

C)Statement 1 is true,Statement 2 is false D)Statement 2 is true, Statement 1 is false.

25

All the curves except are U shaped curves:
(A) Average Fixed Cost Curve. (B) Average Cost Curve
(C) Average Variable Cost Curve. (D) Marginal Cost Curve.

26

A consumer consumes only 2 goods. If price of one of the goods falls, the indifference curve:
A) Shift upwards. B) Shift downwards
C) Can shift both upwards or downwards. D)Does not shift

27

Price of a good 'X' rises from 20 per unit to 40 per unit. The consumer buys the same quantity, he
bought at 20 per unit. What would be price elasticity of demand?
(A) infinity.  (B) zero.  (C) one. (D) less than one.

28

Production in an economy is below its potential due to unemployment, government starts
employment generation schemes. Explain impact on PPC.

29

31. Delhites witnessed a sharp rise in temperature in summer this year. This has rapidly increased the
demand for cotton shirts in the market. On the other hand,India witnessed bumper cotton produce
due to favourable climate conditions.
On the basis of above information answer the following questions.
() Explain the likely effect on the supply of cotton shirts in the market.
(IT) If the increase in the demand for cotton shirts is in the same proportion as increase in the supply
of cotton .How will it affect equilibrium Price and Quantity of Cotton shirts. Explain with the help of
a diagram.

OR
“In a perfectly competitive market buyers treat products by all the firms homogeneous”. Explain the
significance of homogeneity of goods in a perfectly competitive market.
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30 A Consumer buys 20 units of a good at a price of X5 per unit.He incurs an expenditure of X120 when | 4
he buys 24 units.Calculate price elasticity of demand using percentage method.Comment upon the
likely shape of demand curve based on this information.
OR
30 From the following information about a firm,find firm’s equilibrium output in terms of Marginal 4
Cost and Marginal Revenue.Give reason and also find the profit at this output.
Output(units) Total Revenue(%) Total Cost(%)
1 7 8
2 14 15
3 21 21
4 28 28
5 35 36
31 What will be the impact of the following on the supply curve of rice? 2+2
a)Increase in price of fertilizer and seeds
b) increase in the prices of potato as it can also be grown on the land where rice is grown.
32 A consumer consumes only two goods X and Y whose prices are Rs 2 and Rs 1 per unit respectively. | 4
If the consumer chooses a combination of the two goods with marginal utility of X being 4 and that
of Y also being 4, Is the consumer in equilibrium? Give reasons. Explain what will a rational
consumer do in this situation? Use Marginal Utility Analysis.
33 Availability of agricultural land is limited in India but demand of food grains is continuously 6
increasing. Is it possible to increase the supply of food grains by continuously increasing one
variable input like seeds? Which law becomes applicable here? Explain it with the help of diagram
OR
Explain with the help of diagrams,the effect of following on the demand for a good:
A)A rise in price of Subsitute goods
B)Fall in price of own good
34 A) Higher the IC,Higher the Satisfaction.Exlain this statement by giving suitable reason and draw 3
diagram
B)What are the effects of Price Floor on the market of good? Use diagram. 3
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OSDAY Public School, Kaithal
December Examination,2024
Class : XI

Subject : Economics.

Time:- 3 hrs
General instruction:- Set:- B
1.)All Questions are compulsory. MM:-80

2.)Q. No 1-10 & Q. No 18-27 carry 1 mark, Q. No 11-12 & Q. No 28-29 carry 3 marks, Q. No 13-15 &
30-32 carry 4 marks, Q. No 16-17 & 33-34 carry 6 marks.

Q.No. SectionA-Statistics for Economics
1 From the following statement given in column I&column II, Choose the correct pair of statement: 1
Column 1. Column II
A. Economic forecasting. 1. Unlimited
B. Economic Activities. 2. Sampling method
C. Homogeneous data 3. Importance of Statistics
D. Human Wants. 4. Activities undertaken to earn a living
a)3421 b)4231 c)3142 d)2134
2 Statistical data should be and . (Fill in the blanks from the correct option): 1
(a) Uniform, homogeneous. (b) Different, homogeneous
(c) Uniform, heterogeneous. (d) Different, heterogeneous
3 Read the following statements carefully and choose the correct alternative from the following:- 1

Statement1-In case of symmetrical distribution the values of mean median and mode are equal.
Statement 2:- The frequency curve is not bell shaped in case of symmetrical distribution.

(A) Both the statements are true. (B) Both the statements are false.

(C) Statement 1 is true and statement 2 is false. (D) Statement 1 is false and statement 2 is true.

4 Ram has collected data on strength of school from 2019 -2023. Which mode of presentation should 1
he use for comparison and computation of data in the most accurate way.
a) Textual presentation. b) Diagrammatic presentation. c) Tabular presentation. d)None of above

5 Read the following statements carefully and choose the correct alternative:- 1
1 The sum of deviation of items from median is zero.

2 Arithmetic mean is a positional average

3 Median is affected by the extreme observations.

4 An average is not enough to compare series.

(A) 1 and 2 are correct. (B) Only 4 is correct. (C) 2 and 3 are correct. (D) 1,2 and 3 are correct

6 In a negatively skewed distribution:- 1
(A) Mean=Median=Mode. (B) Mean>Median>Mode
(C) Mean<Median<Mode. (D) None of these

7 The average weight of students In a class of 40 students is 50 kg. If the weight of the teacher be 1
included, the average rises by 'z kg, the weight of the teacher is:-
(A) 50.5 kg. (B) 70.5 kg. (C) 41 kg. (D) 70 kg

8 The Correlation between sale of woolen garments and day temperature is:- 1
A)Zero. B)Negative. C)Positive. D)None of above
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9 Read the following statements carefully and choose the correct alternative from the following 1
Statement 1:-Correlation analysis does not tell anything about causes and effect relationship
between the variable
Statement 2;-In non-linear correlation,the amount of change in one variable does not bear a
constant ratio to the amount of change in other related variable.

A) Both the statements are true. C)Both the statements are False.
B) Statement 1 is true,Statement 2 is false. D)Statement 2 is true, Statement 1 is false.

10 Which type of questions are difficult to interpret? 1
A)Two way question. B)Multiple Choice Question. C)Open ended question. D)None of above

11 “A Government needs to collect data on its population in district which is large but has 3
diverse ethnic groups”. Giving reason, elaborate whether census or sample methods
would be more appropriate to collect the data.

12 1). Explain the usefulness of a component bar diagram. 1.5
(11). Represent the following data through a histogram. 1.5

Marks No of students
10-20 6

20-30 8

30-50 32

50-80 36

80-90 4

13 In the year 2023, 40 girl students from a college in Delhi went for an educational exchange trip to 3+
Singapore. The no. of boys was 50% of the total no. of girls. The total no. of teachers accompanying | 1
the students was 5 among whom 3 were female teachers. In the next year the total no. of students
increased by 20. The girl students were 1/4 of the total students. The no of total teachers this year was
6 while the no. of female teachers did not change. Tabulate the given information.

14 Find the median of the following using graphic method. 4

Age in | More More | More More More More More More More
years than 80 | than 70 | than 60 | than 50 | than 40 | than 30 | than 20 [ than 10 | than 0
Noof |0 8 28 73 123 165 200 218 230
persons
15 Find out the mode of the series using grouping method. 4
Size 8 9 10 11 12 13 14 15
Frequenc |5 6 8 7 9 8 9 6
y

16 A) “The sum of square of the deviations of all the items from their Arithmetic Mean is always 3+

minimum”. Prove this statement with suitable example. 3

(B) In a class of 50 students, the mean marks in English were 58. Later on it was found that 2
students with marks 40 & 42 joined the class while it was realised that marks of a student were
wrongly recorded as 25 instead of 20 & the same student left the section. Calculate the corrected
mean.
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17

Calculate the Karl Pearson’s Coefficient of correlation.

12 15 18 21 24 27 30
6 8 10 12 14 16 18
OR
Find out the Coefficient of rank correlation between X and Y
46 56 39 45 54 58 36 40
30 60 40 50 70 70 30 50

SectionB:-Microeconomics

18 Coefficient of Inelastic supply is
(A) infinity. (B) greater than one.  (C) zero. (D) less than one.
19 Match the statements in Coloumn A and B
COLUMN A COLUMN B
(1) Buffer Stock. a) price fixed below equilibrium
(i1)Price floor b) Direct intervention by government
(1i1)Rationing ¢) Price fixed above equilibrium
(1v)Price ceiling and support price d) a consequence of price supportprogram
Choose the correct alternative.
(A)(1)d (ii)c (iii)a (iv)b. (B)(Wa(ii)c (iii)d (iv)b
(C)(1)b (ii)c (iii)a (iv)d. (D)(1)d (ii)a (iii)c (iv)b.
20 Concavity of PPC implies
A)Increasing MRT.  B)Decreasing MRT. C)Constant MRT.  D)None of above.
21 Which one of the following is not an essential element of supply?
a) Price of the commodity. b) Period of time
c¢) Willingness to buy. d) Quantity of the commodity
22 represents all those different combinations of two commodities that a consumer can
buy, given his income and prices of the two commodities
23 Which Law states that: "When a consumer consumes more and more units of a product, the
utility derived from each additional unit decreases"?
(A) Law of Equi-Marginal Utility. (B) Law of Cardinal Utility.
(C) Law of Ordinal Utility. (D) Law of Diminishing Marginal Utility
24 If due to rise in price of a good Y,demand for good X rises, the two goods are

A)Substitute. B)Complementary. C)Not related. =~ D)Competitive
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25

Read the following statements carefully and choose the correct one from the following.
Statement 1: Demand for a commodity with a large number of substitute will be more
elastic

Statement 2:-With large number of substitute,even a small rise in its price will induce the
buyer to go for the substitute.

A)Both the statements are true. B)Both the statements are False.
C)Statement 1 is true,Statement 2 is false. D)Statement 2 is true, Statement 1 is false.

26

When a producer is able to sell all quantities of a good at the same price, in such a market form:
a) AR is always equal to marginal revenue. b) TR=AR=MR.
c) MR>AR>TR. d) AR>MR.

27

Assuming there are two consumers Ram and Shyam in a market and their demand functions are
given as : Qr =40 - 2P ,Qs= 20 - p .From the given individual demand functions determine the
market demand at a price of Rs10 per unit.

a) 20. b) 30. c) 10. d) 4

28

Rajasthan Chief Minister, Ashok Gehlot ,had recently launched the Government's flagship
scheme for urban employment "The Indira Gandhi Shehari Rojgar Yojana' terming it 'historic.'
Explain the impact of this on the PPC of Rajasthan.

29

How does the consumers reach equilibrium position when he is buying only one commodity?
Explain with the help of marginal utility schedule.

OR
‘Two IC’s can never intersect each other’.Explain this property of IC with the help of diagram

30

Price of a commodity falls from %4 to I3 per unit. As a result total expenditure on it rises from
%200 to ¥300.Find out price elasticity of demand by percentage method.

31

A) Why does a firm always price taker under perfect competition market ? Explain in detail.
B)Explain with the help of diagrams,the effect of fall in price of a substitute good on the
demand for a commodity.

2+2

32

(1) Why does the vertical distance between AC curve and AVC curve gradually decline?
(11) Identify the cost curve which is parallel to the x-axis and state the reason for the same.

Or
As per the newspaper report Hindustan Times June 29, 2023 The cabinet has approved a total
package of schemes for farmers worth rupees 3.70 lakh crore. Union fertilizers and chemicals
minister Mansukh Mandaviya said the cabinet approved the launch of "PM Pranam", a scheme
to hand out cash incentive to states that can cut their consumption of chemical soil nutrients.
On the basis of the above report explain the likely effect on equilibrium price and quantity
of chemical fertilizers.

242

33

A)Explain the effect of Increase in Input Prices on the Market supply of goods.
B)What are the effects of Price Floor on the market of good? Use diagram

3+3

34

Availability of agricultural land is limited in India but demand of food grains is continuously
increasing. Is it possible to increase the supply of food grains by continuously increasing one
variable input like seeds? Which law becomes applicable here? Explain it with the help of
diagram.

Or
Explain with the help of diagrams,the effect of following on the demand for a good:
A)A rise in price of Complementary goods
B)Rise in price of own good
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OSDAV PUBLIC SCHOOL,KAITHAL
Marking Scheme and Answer key of Economics
December Examination

Class:-11
Set-A

S.

N

1 A

2 B

3 A

4 Cc

5 A

6 Cc

7 D

8 B

9 C

10 |D

11

12

Technigue used would be Deliberate sampling.

In this method sample is sclected from the population based on the purpose of the
mvestigation,

Sample is selected deliberately by the imvestigator which in his opinion 15 considered as best o

represent the population,
All units of population do not have equal chance to et selected

It is simple technigue of sampling




13

3+1

Median -41.6

Tahble Mo,
No., of persons going in educational trip
(Wagah border) of D.A.V.P.S.
(students, teachers and peons) (Fig, in nos.)
Trip goers Bex Ttz
male femnle
Students a0 a0 120
Teachers 26 2 28
Peons 12 - 12
Total 128 a2 L5
Footnote
Sonroce -
14 3+1




15

3+1

16

3+3




17

2+4

2+4




18

19

20

21

22

23

24

25

26

27

W O[> |O0O|O0O|W|>»|0O0|0O |0

28

Production below the potential means that total production in the economy is

somewhere below the production possibility curve .

When government starts employment generation schemes, as the economy is operating inside the
PPC, the economy moves forward towards the PPC.
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(LThe supply of cofton shirt will increase as price of iNpOt e cotion , falls sharpy
dua ko bumper prodoeocs,

(When increass in demand is proporicnalely equal to increase in supoly. then
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delarmined al E,. As bolhy dermand and sup;:ulg,' moraase in he sama proportion,
acuilibrium price remairs the same at OP, bt equilior um guantity rnises irom O

T 2

Implication of Homogeneous Product’ is that buyers treat the products as
identical. Therefore, the Myers are willing to pay only the same price for the
products of all the firms in the industry. It also implies that no individual firm is in
a position to charge a higher price for its praduct. This ensures uniform price in

the market.
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31

2+2

32

Given Px=2 Py=1 and MUx=4 MUy=4

A consumer will be in equilibrium when
MU /P =MLy Py.

4/2<41,
2=d

This would induce the consumer to buy more of ¥ in place of X till
MU/ Pr=h Ly Py.
With Explanation

33

It will not be possible to increase the supply of food grains continuoushy only by
increasing seeds because of the law of variable proportions As we increase the
use of seeds without changing other inputs, the production will increase but

| beyond the level, it will start falling

| Phase 1: Initially variable input is too small as comparad to the fixed input. As

| production starts, there is efficient use of the fixed input, leading to rise in

| productivity of the variable input on account of division of labour, As a result, TP
| rizes at increasing rate.

{ Phase II: After a level of output, pressure on fixed input leads to fall in
| productivity of the variable input. As a resull, TR continues 1o rise but al a
| decreasing rate.

{ Phasa IIl: Tha amount of variable input becomes oo large in comparison to the

fixed input causing decline in TP.

Or
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OSDAV PUBLIC SCHOOL,KAITHAL
Marking Scheme and Answer key of Economics
December Examination
Class:-11
Set-B

W (W (O([W[([O|O|>|>P

>

10

Cc

1"

Census method would be more appropriate in the given situation
because the district consists of diverse ethnic groups i.e. population is
heterogeneous.

With due Explanation




12

it Coymponent boar diagrames are usedul for

1+2
a & Clonnpaening Shee saees sl dillorenl clessenls webnch g sanatde s
e
& Sludying the rolatiesshsp arnorg the oanlegral] pars oo b
warinhle,
i1
Marks Ma i Shipdends A jusilaal
Frequency
120 &
S0 ]
WEEN 2 16+
SirdEn ] 1z
BO-A0 4
Tig ez 1
3 By Lt P IR BT | R SRS D B ST
b
A l [ —|
g
i \
&
| |
: ] | |
| Lk 1 =
2! a 23 = E s T e T -
IS L e o BRI
13 3+1

Table no—1

Classification of students & teachers going for educational exchange
trip basis gender

(fig. in nos_)

Source: College records

2023 2024
Person/gender | Male | female | Total | Male | Female Total
Students 20 40 &0 &0 20 - 80
Teachers 2 3 5 3 3 &
Total 22 43 B5 B3 23 a6
Footnote: Students & teachers of 5t. Stephen’s College
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Median -341.6

15 3+1
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Corrected Mean = {§ X-IC+C}/N
{(58X50) +40+ 42 25) / 52-1
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= {2900+457}/51
=57.98
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18 (D

19 |A

20 (A

21

22 | Budget line
23

24 (A

25 |D

26 (A

27 | B

28 | it represents the situation of under employment of resources

the scheme leads towards full and efficient utilisation of resources
production in the economy moves towards PPC.
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Solution o F

Price (Rs.) Total Fxpendiure (Rs.) Cuantity Dema

200
4 2030 1

M)

e

Change 0 Price Percentage Change in Price. Cha

Rs g4toRs g %x 100 = ~24% 50Ul

Price elasticty of demand
Percentage change in guantity demande
(Fa)=1(-]

100 %
=[-) Cas% = 4.

Price elasticity of demand = 4.

Percentage change in price
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32

The vertical distance between AC and AVC curves continues to fall with
increase in output because the gap between them 1s AFC , which declines
with rise in output.

*Total fixed cost curve
*Total fixed cost refers to those cost which do not vary directly with the
level of output.

Or

Cash incentives by the government for using organic methods for
discouraging use of chemical fertilizers will decrease demand for chemical
fertilizers.

Demand curve will shift towards left | Aa the original eguilibrium price
there will be excess supply leading to competition among sellers ie.
decrease in price.

This will lead to contraction in supply and expansion in demand till the new
cquilibrium is attained ar a lower price and guantity.

2+2
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B)

3+3

34

It will not be possible to increase the supply of food grains continuoushy only by
increasing seeds because of the law of variable propaorlions As we increase the
usa of seeds without changing other inputs, the production will increase but
beyond the leval, it will start falling

Phase 1: Initially variable input is too small as compared o the fixed input. As
production starts, thare is efficient use of the fixed input, leading to rise in
productivity of the variable input on account of division of labour. As a result, TP
rises at increasing rate.

Phase |- After a level of owtput, pressure on fixed input leads to fall in
productivity of the variable input. As a result, TP continues 1o rise but at a
decreasing rate.

Phase lII: The amount of variable inpul becomes oo large in comparison 1o the
fixed input causing decline in TR,

Or

3+3







